Sculpture base on concrete pad or earth SIDE VIEW e cet SIDEA

blade section

7
8

blade section A Main rods
PIECE IS ASSEMBLED 4
FROM 3 BLADESETS 9 ® 3] secondary rods

bIa@et @ Cylinders
i k 3
10 | ‘
blade set
A ¢

2

12

REAR FRONT

«1-1/2"(2x) (thickest) “roots”

«5/4"x 6" PT deck boards and base plate
attached on top of sleepers

2" x 2" composite sleeper

- concrete pad or earth

== ~ = 4=  / REARPOST FRONT POST ==

blade section 2x6 post set between back-to-back pair
registration blocks of L brackets (red), inserted into pockets
inside sculpture structure.

Base section sleepers are 2x2 composite Base to concrete plate.

3"x3" x 1/4" steel. Four, one in

; Bolted together with 5/16 machine bolts. each “corner”.
Posts are secured to L brackets with four 1-1/4 2 bolts per section (sleeper set) OR
#8 structural screws. 3"x3" x 1/4" steel U brackets.
Two, one on each end of base
L brakets are 10"x10"x 4", 1/8" steel. plate
Brackets are bolted to base plate using Anchored with concrete bolts
four 5/16" bolts per bracket
33-1/2 ‘ 32" ‘ 30 -1/2
96"

Wood - Metal « Plastic « 9'W x 4'H x 5' REFERENCE AND INSTALLATION DRAWING

STEPHEN KLEMA stephen@StephenKlema.com



96"
Roots and Base structure TOP VIEW
PIECE IS ASSEMBLED FROM
2 BASE SECTIONS
base section 2
plate 52"
5.5"

base section

@

plate
registration pin

bolts to concrete or

spikes into earth T III

U hold down brackets.
3"x3"+2"x2" sides, 1/8" steel.
Base can be bolted to concrete or

. secured to earth with 2’ spikes
2x6 post set between pair

of L brackets (red) set back-to-back,

inserted into pockets inside sculpture structure.
Posts are secured to L brackets with four 1-1/4
#8 structural screws.

SLEEPERS

- 2x2 composite sleepers

- bolts - sleepers bolted using 5/16 bolts,
two per sleeper set.

L brakets are 10x10"x 4%, 1/8" steel.
Brackets are bolted to structure plate using
four 5/16" bolts per bracket

PLATES 3"x3"x 1/8" steel hold-down
plates (optional)
DECKING

- 5/4 x 6 PT decking - cut to shape at edges, attached to sleepers
bolts heads recessed in top of decking 9 p 9 P!

BASE PLATE
- 5/4 x 6 PT. Supports/aligns blade structures- attached to sleepers

ROOTS
- On top of decking - fastened from top with
stainless screws

Wood « Metal - Plastic « 9'W x 4'H x 5'D REFERENCE AND INSTALLATION DRAWING

STEPHEN KLEMA stephen@StephenKlema.com



